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QUESTION 1

The DB2 subsystem DSN has been correctly configured to access a remote DB2 location MYREMOTE. Which of the
following processes can be used on subsystem DSN to access MYUSER.EMP table at MYREMOTE location? 

A. SELECT * FROM MYUSER.EMP; 

B. CONNECT TO MYREMOTE; SELECT * FROM MYUSER.EMP; 

C. SELECT * FROM MYUSER.MYREMOTE.EMP; 

D. CREATE ALIAS EMP_ALIAS FOR LOCATION.MYREMOTE.MYUSER.EMP; SELECT * FROM
MYUSER.EMP_ALIAS; 

Correct Answer: B 

 

QUESTION 2

Using the SQL statement DECLARE GLOBAL TEMPORARY TABLE (DGTT) which of the following is TRUE? 

A. A DGTT is only stored in memory 

B. The qualifier for a DGTT is SESSION 

C. The DGTT can be specified in a referential constraint D. All privileges associated with the DGTT are stored in the
DB2 catalog 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/
db2z_sql_declareglobaltemptable.html 

 

QUESTION 3

Given the following sequence of events: 

1) COL1 in SCHEMA.TABLE has a value of 10 2)Update COL1 in SCHEMA.TABLE to 20 3) Set SAVEPOINT A 4)
Update COL1 in SCHEMA.TABLE to 30 5) Set SAVEPOINT B After issuing the statement: ROLLBACK TO
SAVEPOINT 

What will be the value in COL1 of the SCHEMA.TABLE? 

A. 10 

B. 20 

C. 30 

D. An -880 SQLCODE will be issued when the statement is executed 

Correct Answer: C 
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QUESTION 4

Which two of the following functions are synonyms of one another? (Choose two.) 

A. CLOB 

B. VALUE 

C. IFNULL 

D. DBCLOB 

E. COALESCE 

Correct Answer: BE 

Reference: https://www.techagilist.com/mainframe/coalesce-scalar-function-db2-queries/ 

 

QUESTION 5

Which of the following SQL constructs does NOT provide information about the success or failure of the SQL statement
that was just executed? 

A. SQLCA 

B. SQLDA 

C. SQLCODE 

D. SQLSTATE 

Correct Answer: B 

 

QUESTION 6

Which authorizations can change the value of the subsystem parameter SYSADM using the -SET SYSPARM
command? (Choose two.) 

A. SYSADM 

B. SECADM 

C. SYSCTRL 

D. Installation SYSADM 

E. Installation SYSOPR 

Correct Answer: DE 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/comref/src/tpc/
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db2z_cmd_setsysparm.html 

 

QUESTION 7

Which of the following utilities or utility control statements require datasets for execution? 

A. LISTDEF 

B. OPTIONS 

C. TEMPLATE 

D. CHECK LOB 

Correct Answer: A 

 

QUESTION 8

Which catalog table contains the information about definition changes for an object that have not yet been applied by
the REORG utility? 

A. SYSIBM.SYSCHECKDEP 

B. SYSIBM.SYSPENDINGDDL 

C. SYSIBM.SYSDEPENDENCIES 

D. SYSIBM.SYSPENDINGOBJECTS 

Correct Answer: B 

 

QUESTION 9

COL1 is defined as CHAR(05) and contains CHAR(`12345\\'). Which of the following expressions returns the digits
12345 for further calculation? 

A. HEX(COL1) 

B. DEC(COL1) 

C. PACK(COL1) 

D. DIGITS(COL1) 

Correct Answer: B 

 

QUESTION 10

Which of the following statements about a table with a LOB column is TRUE? 
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A. It doesn\\'t need an auxiliary table if it has an inline LOB 

B. It must also have a ROWID column and an auxiliary table 

C. It doesn\\'t need a ROWID column (implicit or explicit) if a LOB locator will be used 

D. It must be in a partitioned by growth (PBG) universal table space with a ROWID column 

Correct Answer: B 

 

QUESTION 11

Which of the following statements concerning a bi-temporal table is TRUE? 

A. It provides business history, but is not useful for audit purposes 

B. It is defined with both an application period and a system period 

C. It is useful for audit purposes, but is not useful for business history 

D. It contains data reflecting two different times ?current time and one previous time 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/
db2z_creationoftableswithdataversioning.html 

 

QUESTION 12

Which package level privileges does the user smith have when the following statement is executed? GRANT ALL ON
PACKAGE clct1.pkg1 TO smith; 

A. GRANT, COPY, BIND, RUN 

B. BIND, EXECUTE, COPY, RUN 

C. CREATE, COPY, RUN, EXECUTE 

D. COPY, BINDADD, SQL, EXECUTE 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/
db2z_sql_grantpackageprivileges.html 

 

QUESTION 13

Which catalog table contains the IN, OUT and INOUT parameters used in a stored procedure? 

A. SYSIBM.SYSSTMT 
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B. SYSIBM.SYSPARMS 

C. SYSIBM.SYSROUTINES 

D. SYSIBM.SYSVARIABLES 

Correct Answer: B 

 

QUESTION 14

Consider the following question: "What is the average salary by sex within education level?" An occasional uncommitted
record can be tolerated in the average. 

Which of the following is the most appropriate isolation level for this? 

A. UR 

B. RR 

C. CS 

D. RS 

Correct Answer: A 

Reference: https://vdocuments.net/db2-app-dba-module-i.html 

 

QUESTION 15

Which of the following programming techniques can be used to check for any error codes after executing an SQL
statement? 

A. Declaring a cursor 

B. Using the WHENEVER statement 

C. Using DCLGEN to produce declarations for tables 

D. Dynamically executing a statement with parameter markers 

Correct Answer: C 
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